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upper rate dependence

upper rate = (accidental coincidence of upper
with signal) / (clock1/100k [Hz])

conclusion

- the excess between Ka and kb depends on the “accidental”
upper rate

- the gaussian mean moves about 5 eV with upper rate > | kHz

sdd5 (upper rate > | kHz) has ~1/2 statistics of (upper rate < | kHz)

- for sdd |, the lower side tail of Ni influences the fit parameters.
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Ti

Ni

upper rate dependence of a simple fit (sddl)

upper < | kHz | upper > | kHz total
mean [eV] 4508.7+ 0.3 4511.6+ 0.8 4509.1+ 0.2
sigma [eV] 64.7 £ 0.3 67.9 £ 0.8 65.0 £ 0.2
chi*2/ndf 1.08 .50 |.45
mean [eV] 7476.3£ 0.3 7481.1£ 1.0 7476.9+ 0.3
sigma [eV] 754+ 0.3 80.3 + I.1 759 +£0.3
chi*2/ndf 1.60 .18 .65

\ lower side tail influences




Ti

Ni

upper rate dependence of a simple fit (sdd5)

upper < | kHz | upper > | kHz total
mean [eV] 4507.7 £ 0.3 4511.2 £ 0.6 4508.6 £ 0.3
sigma [eV] 78.0 £ 0.3 84.0 £ 0.6 79.8 £ 0.3
chi?*2/ndf .59 2.28 2.53
mean [eV] 74754 + 0.4 7480.9 + 0.6 7476.9 £ 0.3
sigma [eV] 88.0 £+ 0.4 94.5 £ 0.7 89.8 £ 0.3
chi*2/ndf .57 2.06 2.34
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